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Practical lesson

Lesson 1 - Introduction



In which fields is remote sensing commonly used? 

)LQG�RXW�PRUH�DW��ZZZ�HVD�LQW�HGXVSDFH�

ï^bQYS�^V�aQTQa�YóQWUb�óUQbdaUT�Rf�Q]�îScYôU�bU]b^a��9]ôYbQc�îFîE�

îScYôU�bU]b^ab�dbU�cXUYa�^õ]�b^daSU�^V�
aQTYQcY^]#�=]�cXYb�SQbU!�cXU�bU]b^a�UóYcb�
aQTYQcY^]� c^õQaTb� ^RZUScb� ^]� cXU� 9QacX�
Q]T�óUQbdaUb� cXU� Qó^d]c� ^V� aQTYQcY^]�
aUV\UScUT� RQS[#� =]� S^]caQbc� c^� _QbbYôU�
bU]b^ab!�QScYôU�bU]b^ab�SQ]�óUQbdaU�Rf�
TQf�Q]T�Rf�]YWXc#�=V�cXUf�QaU�aQTQa!�cXUf�
Q\Q\b^�SQ]�bUU�cXa^dWX�S\^dTb#

î7G=ð9�F9AFBEF

ï^bQYS�^V�^_cYSQ\�YóQWUb�óUQbdaUT�Rf�Q�CQbbYôU�bU]b^a��9]ôYbQc�ï9E=F�

CîFF=ð9�F9AFBEF

CQbbYôU� bU]b^ab�óUQbdaU� cXU� aQTYQcY^]�
S^óY]W� Va^ó� Q� b^daSU� UecUa]Q\� c^� cXU�
bU]b^a!�bdSX�Qb�cXU�bd]\YWXc�aUV\UScUT�Rf�
^RZUScb� ^]� cXU� 9QacX� ^a� cXU� cXUaóQ\�
Y]VaQaUT�aQTYQcY^]�UóYccUT�Rf�cXU�9QacX�
YcbU\V#� CQbbYôU� bU]b^ab� SQ]]^c� TUcUSc�
bd]\YWXc� TdaY]W� cXU� ]YWXc#� =V� cXUf� QaU�
^_c^_cYSQ\!� cXUf� Q\b^� SQ]]^c� bUU� cXa^dWX�
S\^dTb#

5HPRWH�6HQVLQJ�LV�WKH�SULQFLSOH�RI�PHDVXULQJ�LQIRUPDWLRQ�DERXW
DQ�REMHFW�ZLWKRXW�EHLQJ�LQ�SK\VLFDO�FRQWDFW�ZLWK�LW��

7KH�LQVWUXPHQWV�WKDW�DUH�XVHG�LQ�UHPRWH�VHQVLQJ�DUH�FDOOHG�VHQVRUV��
7KH\�PHDVXUH�WKH�HOHFWURPDJQHWLF�UDGLDWLRQ�RI�REMHFWV�DQG�FRQYHUW
LW�LQWR�GDWD�WKDW�D�FRPSXWHU�FDQ�LQWHUSUHW�

5HPRWH�VHQVLQJ�FDQ�EH�GRQH�IURP�WKH�JURXQG��IURP�DQ�DLUFUDIW
RRU�IURP�VSDFH��,Q�UHPRWH�VHQVLQJ�IURP�VSDFH��WKH�VHQVRUV�DUH�
PRXQWHG�RQ�D�VDWHOOLWH�DQG�DUH�RULHQWHG�WRZDUGV�WKH�(DUWK�VR�WKDW�
WKH�DWPRVSKHUH��RFHDQ��ODQG�DQG�REMHFWV�VXFK�DV�WUHHV��FURSV��
EXLOGLQJV��ULYHUV�FDQ�EH�REVHUYHG��

5HPRWH�VHQVLQJ�VHQVRUV�DUH�JURXSHG�LQWR�WZR�FDWHJRULHV�
SDVVLYH�DQG�DFWLYH��
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What is the name of a satellite that we see every day in weather forcast on 
CT? Is it an active or passive sensor?

<HEE=7îA9

B_cYSQ\� YóQWUab� Va^ó� b_QSU� _a^ôYTU�
TUcQY\UT� ôYUõb� ^V� S\^dT� bcadScdaUb�
Qbb^SYQcUT� õYcX� cXU� S^]ôUScY^]� ^V�
õY]T#� GXYb� Y]V^aóQcY^]� Yb� dbUVd\� c^�
bd__^ac� cXU�ó^]Yc^aY]W�^V�XdaaYSQ]Ub�
Q]T�Yó_a^ôU�õUQcXUa�V^aUSQbcY]W#

<daaYSQ]U�EYcQ�Y]�cXU�;d\V�^V�ïUeYS^�_YScdaUT�Y]�9]ôYbQc�ï9E=F�YóQWU�

ñQcUa�ôQ_^da

A=GEB;9A�8=BI=89��AB
'
�

B_cYSQ\� b_USca^óUcUab� óUQbdaU� cXU�
\YWXc� aUV\UScUT� Va^ó� cXU� Qcó^b_XUaU�
Q]T� aUôUQ\� QRb^a_cY^]� \Y]Ub!� õXYSX�
S^aaUb_^]T� c^� SUacQY]� WQbUb� bdSX� Qb�
AYca^WU]�TY^eYTU��AB

'
�#�GXYb�Y]V^aóQcY^]�

Yb� ôYcQ\� c^� QbbUbb� QYa� `dQ\Ycf� Q]T� c^�
bd__^ac�cXU�_aUTYScY^]�^V�S\YóQcU�SXQ]WU#�

AB
'
�Qb�óUQbdaUT�Rf�9]ôYbQc�F7=îïî7<ò�

ñ=A8

=óQWY]W�aQTQa�Y]bcadóU]cb�QaU�bU]bYcYôU�
c^� õQcUa� bdaVQSU� a^dWX]Ubb� bdSX� Qb�
õQôUb�_a^TdSUT�Rf�õY]T�̂ ]�̂ _U]�̂ SUQ]b�
^a� \Q[Ub#� GXYb� Y]V^aóQcY^]� Yb� dbUT� c^�
aUcaYUôU� õY]T� UbcYóQcUb� õXYSX� QaU�
UbbU]cYQ\� c^� cXU� óQ]QWUóU]c� ^V� õY]T�
VQaób�Q]T�c^�õUQcXUa�V^aUSQbcY]W#

GXU�6Qaa^õ�^VVbX^aU�õY]T�VQaób��H?��Q]T�UVVUSc�^V�õY]T�^]�bUQ�bdaVQSU�bX^õ]�^]�FU]cY]U\"&�YóQWU#

7KH�(DUWKŨV�DWPRVSKHUH�LV�WKH�PL[WXUH�RI�JDVHV�WKDW�VXUURXQGV�RXU�SODQHW��,W�LV�RI�IXQGDPHQWDO�
LPSRUWDQFH�WR�OLIH�RQ�(DUWK��$PRQJ�RWKHU�WKLQJV��LW�SURYLGHV�OLYLQJ�RUJDQLVPV�DLU�WR�EUHDWKH��
SURWHFWV�XV�IURP�WKH�VXQ
V�XOWUDYLROHW�UDGLDWLRQ�DQG�UHJXODWHV�WKH�(DUWKŨV�WHPSHUDWXUH�WR�NHHS�
LW�KDELWDEOH��0RQLWRULQJ�WKH�SURSHUWLHV�RI�WKH�DWPRVSKHUH�LV�WKHUHIRUH�HVVHQWLDO�

66HQVRUV�RQ�ERDUG�VDWHOOLWHV�RIIHU�QHZ�FDSDELOLWLHV�WR�VXSSRUW�DWPRVSKHULF�DSSOLFDWLRQV��)RU�
H[DPSOH��WKH\�SURYLGH�SURƏOHV�RI�ZLQG�DQG�PHDVXUHPHQWV�RI�FORXGV�GLVWULEXWLRQ�WR�LPSURYH�
ZHDWKHU�PRGHOV�DQG�IRUHFDVW��7KH\�DOVR�PRQLWRU�FKDQJHV�LQ�DWPRVSKHULF�FRPSRVLWLRQ��XVHIXO�
WR�FRQWURO�DLU�TXDOLW\�DQG�UHƏQH�FOLPDWH�PRGHOV��7KH\�SURYLGH�GHWDLOHG�YLHZV�RI�SKHQRPHQD�
VXFK�DV�KXUULFDQHV��HUXSWLRQV�RI�YROFDQLF�DVK�DQG�XUEDQ�KHDW�LVODQGV�

ź�$70263+(5(�$33/,&$7,216



What remote sensing data outcome we use on a daily basis? 
Is it an active or pasive sensor? Why?

@Q]TS^ôUa

FB=@�ïB=FGHE9

=óQWY]W�aQTY^óUcUab!�bdSX�Qb�^]�9Fî�b�
FïBF�bQcU\\YcU!�_a^TdSU�W\^RQ\�óQ_b�^V�
bdaVQSU� b^Y\� ó^YbcdaU!� Q]� Yó_^acQ]c�
_QaQóUcUa�V̂ a�ôUWUcQcY^]�Q]T�QWaYSd\cdaU�
ó^]Yc^aY]W!�õQcUa�óQ]QWUóU]c!�õUQcXUa�
Q]T�S\YóQcU�V^aUSQbcY]W#

F^Y\�ó^YbcdaU�Qb�óUQbdaUT�Rf�FïBF

ðB@7îAB9F

î__\YSQcY^]b� ^V� aQTQa� YóQWUab� Y]S\dTU�
óUQbdaY]W�cXU�Y]V\QcY^]�̂ a�TUV\QcY^]�̂ V�Q�
ô^\SQ]^�õYcX�óY\\YóUcaYS�_aUSYbY^]!�dbY]W�
FîE� =]cUaVUa^óUcaf#� GXYb� SQ]� _a^ôYTU�
Y]V^aóQcY^]� ^]� ô^\SQ]YS� QScYôYcf!� õXYSX�
SQ]� Yó_a^ôU�ó^TU\b� V^a� cXU� _aUTYScY^]�
^V�VdcdaU�Uad_cY^]b#

ï^d]c�@^]W^]^c�ô^\SQ]^�d_\YVc�óUQbdaUT�^]�Q]�9]ôYbQc�îFîE�Y]cUaVUa^WaQó

î;E=7H@GHE9

B_cYSQ\�YóQWUab�QaU�SQ_QR\U�^V�_a^ôYTY]W�
_UaY^TYS� Q]T� VY]U� TUcQY\UT� YóQWUb� ^V�
QWaYSd\cdaQ\�VYU\Tb#�GXYb�Q\\^õb�óQ__Y]W�
Sa^_b� Q]T� QbbUbbY]W� cXUYa� XUQ\cX� Q]T�
Wa^õcX�^]�Q�VaU`dU]c�RQbYb#

îWaYSd\cdaQ\�VYU\Tb�^V�cXU�=ó_UaYQ\�ðQ\\Uf�bX^õ]�^]�9]ôYbQc�ï9E=F�YóQWU

/DQG�FRYHUV�����RI�WKH�(DUWKŨV�VXUIDFH��7KLV�DUHD�VXSSRUWV�WKH�YDVW�PDMRULW\�RI�KXPDQ�
DFWLYLW\�DQG�SURYLGHV�KDELWDWV�WR�OLYLQJ�EHLQJV��,W�DOVR�SOD\V�D�SURPLQHQW�UROH�LQ�WKH�(DUWKŨV�
FOLPDWH��GXH�WR�LWV�GLUHFW�LQWHUDFWLRQ�ZLWK�WKH�DWPRVSKHUH�DQG�WKH�K\GURVSKHUH�
7KHVH�HOHPHQWV�PDNH�WKH�PRQLWRULQJ�RI�/DQG�D�NH\�FRPSRQHQW�IRU�KXPDQNLQG
DQG�WKH�ELRVSKHUH�

55HPRWH�VHQVLQJ�KDV�EHFRPH�WRGD\�DQ�LQYDOXDEOH�WRRO�LQ�WKH�DVVHVVPHQW�RI�ODQG�UHVRXUFHV��
6DWHOOLWHV�VXSSRUW�IRU�H[DPSOH�ODQG�FRYHU�PDSSLQJ��XUEDQ�SODQQLQJ��IRUHVW�ƏUHV�GHWHFWLRQ��
VRLO�PRLVWXUH�DQG�HURVLRQ�DVVHVVPHQW��IRUHVW�ELRPDVV�HVWLPDWLRQ��(DUWKŨV�WRSRJUDSK\�
PHDVXUHPHQW��YROFDQR�PRQLWRULQJ�DQG�HDUWKTXDNH�PRGHOOLQJ�

ź�/$1'�$33/,&$7,216



What would be the rise of a ocean level (in meters) if all ice would melt? 
The biggest ammount of ice was detected in Peistocen, do you know how may %?

F9î"=79�G<=7?A9FF

EQTQa� Q\cYóUcUab!� bdSX� Qb� cXU� ^]U� ^]�
R^QaT�9FîÀb�7af^FQc"'�bQcU\\YcU!�óUQbdaU�
õYcX�SU]cYóUcaU�_aUSYbY^]�cXU�YSU�bXUUc�
Q]T� bUQ"YSU� cXYS[]Ubb#� GXYb� U]QR\Ub�
`dQ]cYVYSQcY^]�̂ V�cXU�Qó^d]c�̂ V�YSU�óU\cY]W�
Y]�_^\Qa�aUWY^]b�Q]T�Ycb�S^]caYRdcY^]�c^�
W\^RQ\�bUQ�\UôU\�aYbU#

î]cQaScYSQ�YSU�bXUUc�cXYS[]Ubb�óUQbdaUT�Rf�7af^bQc"'ôôô�����ó+)

;@î7=9E�:@Bñ�ð9@B7=Gò

HbY]W�QTôQ]SUT�cUSX]Y`dUb�bdSX�Qb�FîE�
=]cUaVUa^óUcaf!�aQTQa�Y]bcadóU]cb�Q\\^õ�
cXU�óUQbdaUóU]c�̂ V�W\QSYUa�V\^õ�ôU\^SYcf#�
GXYb�Y]V^aóQcY^]�Yb�dbUT�c^�Y]VUa�W\QSYUabÀ�
óQbb�RQ\Q]SU�õXYSX�Yb�Q�bU]bYcYôU�Y]TYSQc^a�
^V�cXU�9QacXÀb�S\YóQcU#

CUcUaóQ]]�;\QSYUa�TYb_\QSUóU]c�bX^õ]�^]�EQTQabQc"'�Y]cUaVUa^WaQó

=79�7Bð9E

B_cYSQ\�YóQWUab!�Qb�õU\\�Qb�aQTQa�YóQWUab!�
óUQbdaU� cXU� YSU�S^ôUa�UecU]c�Q]T� caQS[�
TaYVcY]W�YSURUaWb�Y]�̂ SUQ]�SdaaU]cb#�GXUbU�
QaU�Yó_^acQ]c�Y]TYSQc^ab�V̂ a�cXU�ó^]Yc^aY]W�
^V� 7\YóQcU� 7XQ]WU� Q]T� SQ]� bd__^ac�
óQaYcYóU�]QôYWQcY^]�Y]�^da�Y]SaUQbY]W\f�
Rdbf�îaScYS�õQcUab#

FUQ"YSU�VaQWóU]cb�Y]�cXU�îaScYS�^SUQ]�UTTYUb�b_^ccUT�Rf�9]ôYbQc�ï9E=F

7f^bQc�óQ__Y]W�SXQ]WUb
Y]�YSU�cXYS[]Ubb!�
FU_cUóRUa�'%%,

$ERXW�����RI�WKH�(DUWKŨV�VXUIDFH�LV�SHUPDQHQWO\�FRYHUHG�E\�JODFLHUV��LFH�FDSV�DQG�LFH�VKHHWV��
FROOHFWLYHO\�UHIHUUHG�WR�DV�WKH�FU\RVSKHUH��7KHVH�GLIIHUHQW�IRUPV�RI�LFH��PDLQO\�IRXQG�LQ�SRODU�
DQG�KLJK�DOWLWXGH�UHJLRQV��SOD\�D�FULWLFDO�UROH�LQ�UHJXODWLQJ�WKH�(DUWKŨV�FOLPDWH�DQG�VHD�OHYHO��
5HFHQW�REVHUYDWLRQV�SRLQW�WR�UDSLG��SRVVLEO\�LUUHYHUVLEOH�FKDQJHV�RI�WKH�FU\RVSKHUH�
7KH�PRQLWRULQJ�RI�LFH�LV�WKHUHIRUH�LPSHUDWLYH�IRU�WKH�IXWXUH�RI�RXU�SODQHW�

5HPRWH�VHQVLQJ�RIIHUV�D�QHZ�DQG�YDOXDEOH�WRRO�IRU�LFH�PRQLWRULQJ�DQG�D�YDULHW\�RI�LFH�
DSSOLFDWLRQV��)RU�H[DPSOH��LW�VXSSRUWV�VKLS�URXWLQJ�DQG�RIIVKRUH�RSHUDWLRQV�LQ�SRODU�DUHDV
EE\�PDSSLQJ�LFH�FRYHU�DQG�WUDFNLQJ�LFHEHUJV��,W�SURYLGHV�DOVR�PHDVXUHPHQWV�RI�HVVHQWLDO�LFH�
YDULDEOHV�VXFK�DV�VHD�LFH�WKLFNQHVV�DQG�FRQWLQHQWDO�LFH�WRSRJUDSK\�WR�PRQLWRU�FOLPDWH�FKDQJH��
,W�DOORZV�WKH�FKDUDFWHULVDWLRQ�RI�VHD�LFH�GULIW�DQG�WKH�GHWHUPLQDWLRQ�RI�JODFLHU�ƐRZ�YHORFLWLHV�

ź�,&(�$33/,&$7,216



Do you know what is an approxamate rize of the ocean level every year?

)LQG�RXW�PRUH�DW��ZZZ�HVD�LQW�HGXVSDFH�

FUQ�FdaVQSU�GUó_UaQcdaU

F9î"�G@9ð9@

EQTQa�Q\cYóUcUab�óUQbdaU�cXU�XUYWXc�^V�
cXU�bUQ�bdaVQSU#�GXYb�Y]V^aóQcY^]�Yb�ôYcQ\�
c^� ó^]Yc^a� bUQ� \UôU\� aYbU� Y]� S^QbcQ\�
QaUQb� Q]T� c^� d]TUabcQ]T� cXU� W\^RQ\�
^SUQ]�SYaSd\QcY^]#

î]]dQ\�bUQ"\UôU\�SXQ]WUb�WU]UaQcUT�Va^ó�bQcU\\YcU�Q\cYóUcaf

B=@�FC=@@

=óQWY]W�aQTQa�Y]bcadóU]cb�QaU�bU]bYcYôU�
c^�bdaVQSU�a^dWX]Ubb#�GXYb�SXQaQScUaYbcYS�
U]QR\Ub� cXUó� c^� TUcUSc� ^Y\� b_Y\\b!� Qb� ^Y\�
V\^QcY]W�^]�cXU�bdaVQSU�XQb�cXU�UVVUSc�^V�
bó^^cXY]W� cXU� õQôUb� _a^TdSUT� Rf� cXU�
õY]T�^]�cXU�õQcUa#

GXU�^Y\�b_Y\\�^aYWY]QcY]W�Va^ó�cXU�bcaYS[U]�CaUbcYWU�cQ][Ua�aUôUQ\UT�^]�9]ôYbQc�îFîE�YóQWU

B79îA�7B@BE

B_cYSQ\� Y]bcadóU]cb� QaU� SQ_QR\U� ^V�
^RbUaôY]W� cXU� S^\^da� ^V� cXU� ^SUQ]b!�
aUôUQ\Y]W� cXU� _aUbU]SU� ^V� Q\WQU� Q]T�
_\Q][c^]� õXYSX� Yb� Q� W^^T� Y]TYSQc^a� ^V�
W\^RQ\� ^SUQ]� XUQ\cX� Q]T� XU\_b� c^�
TUcUaóY]U� cXU�ó^bc� bdYcQR\U� \^SQcY^]b�
V^a�_a^TdScYôU�VYbXUaYUb#

CXfc^_\Q][c^]�R\^^ó�QSa^bb�cXU�6QaU]cb�FUQ�_YScdaUT�Y]�9]ôYbQc�ï9E=F�YóQWU�

7KH�RFHDQV�FRYHU�PRUH�WKDQ�����RI�WKH�(DUWKŨV�VXUIDFH��7KHVH�YDVW�DUHDV�KDYH�D�JUHDW�
LQƐXHQFH�RQ�ZHDWKHU�DQG�FOLPDWH�UHJLRQDOO\�DQG�ZRUOGZLGH��IRU�WKLV�UHDVRQ�RFHDQ�
PRQLWRULQJ�LV�YHU\�LPSRUWDQW�IRU�RXU�SODQHW�DQG�IRU�KXPDQ�ZHOO�EHLQJ�

1RZDGD\V��VDWHOOLWHV�PHDVXUH�D�YDULHW\�RI�RFHDQ�SDUDPHWHUV�DW�JOREDO��UHJLRQDO�DQG�ORFDO�
VFDOHV��7KHVH�PHDVXUHPHQWV�VXSSRUW�D�ZLGH�UDQJH�RI�DSSOLFDWLRQV�VXFK�DV��FOLPDWH�
FKDQJH�PRQLWRULQJ��ZHDWKHU�IRUHFDVWLQJ��ZLQG�DQG�ZDYHV�PRQLWRULQJ��DOJDH�EORRPV��
ƏVKHU\��VKLS�URXWLQJ��VHDUFK�	�UHVFXH��RLO�VSLOO�GHWHFWLRQ��DQG�ZDWHU�TXDOLW\�DVVHVVPHQW�
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Term explanation

PIXEL

Basic image element

Shortcut of „picture element“
Place where one measured information is detected

Defined spacial coordinates in raster



Term explanation

BAND

Is part of an
electromagnet
ic spectrum
defined by 
boundary
wave lengths

Number of
bands and 
their width
defines the
data 
characteristics



Term explanation

RESOLUTION

Spatial – size of one point (pixel) – Low and middle, High, Very 
high
Spectral – Panchromatic (1 band), Multispectral, Hyperspectral
(tens to hundreds od bands)
Temporal – revisit frequency of a defined area

Radiometric – pixel depth – smallest change in radiance 
intensity that can be detected (in bites)
Polarimetric – for radar data – better distinguishing between
land cover types, improves object detection



Examples

RESOLUTION



Examples

RESOLITION

Low to middle- Meteosat MSG (km)
High - Sentinel 2 sensor MSI (tens of m)



Very high
resolution

Pleiádes-NEO
MS 1,2m
PAN 0,3m

Can you
recognize the
city?



Examples

RESOLUTION

Landsat 7 - ETM 7 bands Letecké - AVIRIS, 224 bands, absorption
bands

Panchromatic band – Pan (all) Chroma (color) = 1band in a spectral range of
visible and VNIR, black and white picture in grey scale



Data processing types

Unprocessed („raw“) data
Processed (“system corrected“) data 

By „processing“ we mean implementation of
basic radiometric (sensor calibration), 
geometric (position) and atmospheric
corrections.



What satelites are commonly used for Earth observation?
What trajectory has the previously mentioned Meteosat MSG (CHMI weather
forecast)? 

;U^bcQcY^]Qaf�̂ aRYcb�QaU�TUbSaYRUT�Rf�Q�SYaSd\Qa�
caQZUSc^af� Q__a^eYóQcU\f� (+!%%%� [ó� QR^ôU�
cXU�9QacX�b�U`dQc^a#�FQcU\\YcUb�^]�cXUbU�^aRYcb�
caQôU\�Qa^d]T�cXU�9QacX�Qc�cXU�bQóU�Q]Wd\Qa�
ôU\^SYcf�Qb�cXU�9QacX#�=]�cXYb�õQf!�cXUf�Q__UQa�
S^]bcQ]c\f�Qc�cXU�bQóU�_^bYcŶ ]�QR^ôU�cXU�9QacXÀb�
bdaVQSU�Q]T�SQ]�_a^ôYTU�Q�S^]cY]d^db�bUaôYSU#�
ï^ï^bc�óUcU^a^\^WYSQ\� Q]T� cU\US^óód]YSQcY^]�
bQcU\\YcUb�QaU�_\QSUT�Y]�WU^bcQcY^]Qaf�^aRYcb#

;9BFGîG=BAîEò�BE6=GF
�@B7?98�ñ=G<�G<9�9îEG<�

AUQa�_^\Qa�Fd]"bf]SXâ ]^db�̂ aRYcb�QaU�TUbSaYRUT�
Rf�Q�a^dWX\f�SYaSd\Qa�caQZUSc^af�Q__a^eYóQcU\f�
-%%�[ó�QR^ôU�cXU�9QacX�b�bdaVQSU#�FQcU\\YcUb�
^]� cXUbU� ^aRYcb� QbSU]T� ^a� TUbSU]T� ]UQa\f�
Sa^bbY]W� cXU� _^\Ub� Qb� cXU� 9QacX� a^cQcUb!� Y]�
bdSX�Q�õQf�cXQc�cXUf�SQ]�̂ RbUaôU�UôUaf�_Qac�̂ V�
cXU�9QacX�Qc�cXU�bQóU�\^SQ\�cYóU�Q]T�õYcX�cXU�
bQóUbQóU�bd]�Y\\dóY]QcŶ ]�UQSX�TQf#�9QacX�̂ RbUaôQcŶ ]�
bQcU\\YcUb�]UUTY]W�c^�S^ôUa�cXU�_\Q]Uc�W\^RQ\\f�
QaU�_\QSUT�Y]�cXUbU�^aRYcb#
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JUDYLW\�RI�WKH�(DUWK��WKH�VHFRQG�IDFWRU�LV�WKH�YHORFLW\�RI�WKH�VDWHOOLWH�DQG�WKH�WKLUG�
IDFWRU�LV�WKH�SRVLWLRQ�RI�WKH�VDWHOOLWH��7KH�FORVHU�WKH�VDWHOOLWH�LV�WR�WKH�(DUWK��WKH�
KLJKHU�LV�LWV�YHORFLW\�

6FLHQWLVWV�VHOHFW�WKH�RUELWV�DFFRUGLQJ�WR�ZKDW�WKH�VDWHOOLWHV�QHHG�WR�REVHUYH�
,,Q�JHQHUDO��WZR�W\SHV�RI�RUELWV�DUH�XVHG�IRU�(DUWK�REVHUYDWLRQ�VDWHOOLWHV�
1HDU�3RODU�6XQ�V\QFKURQRXV�DQG�*HRVWDWLRQDU\�RUELWV�
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Data portals

ESA Portal - Data and processed outcome
examples for public

https://apps.sentinel-hub.com/eo-browser

https://apps.sentinel-hub.com/eo-browser/?zoom=10&lat=41.9&lng=12.5&themeId=DEFAULT-THEME


Profesional data portals

Downloading and further processing of data

Are not so visually attractive
Data availability – commercial vs. open

ESA - https://scihub.copernicus.eu/dhus/#/home

NASA - https://search.earthdata.nasa.gov

Paid providers (AWS - Amazon, Google Earth Engine) – easier
access when processing large amounts of data



Next lesson task

Be able to download data

CZ

Copernicus hub na CESNET (https://www.cesnet.cz)
Create account at https://dhr1.cesnet.cz/#/home

Others

ESA Scihub

https://scihub.copernicus.eu/dhus/#/home

https://dhr1.cesnet.cz/

